=
<

(0 @) (rad)
o(d cot(v))

9

-+

2+

101 2 3 2 3
10 1 TPlpg)T (PCA t%obeamlinélf) TPlpoT (PCA t%obeamlinélf)

—=— DQM_CKF_QCDHighPt_retrain
—— DQM_mkFit_QCDHighPt_retrain

=

= =
= €
5] (5]
2 =
= =
> N
¢ o
) =) ;
> I oo
[ N P
AN
T+ +
F “; T H --u-- Ty
=[] (44
1
-1 J- -
10 LT
&
T »
. 4
o103F o S I B
E 4
E : : ] I T 4 O
0.9F-------= Tb--o- LA e [ ST 5
E ; : : r f 1
| AR

-1 2 3
10 1 TPlp?T (PCA tjbobeamliné'f)

=

o p/p.)

2 H : g :
I r ; SYIN N :
m B - : : & d :
(| RIS SHEEERS G 1 REEEEERE e
5 ; i = s
TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


